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GANPAT UNIVERSITY

B.Tech. ME/MC/CL/ EE) Sem-11
CBCS Regular Theory Examination May-June 2013
: Engineering Science 'S

2EC101

Time: 3 Hours
Instructions:
1. Attempt all questions.
2. Answers to the two sections must be written in separate fswer 0&5.
3. Figures to the right indicate full marks.
4. Assume suitable data, if necessary .

(A) Define Magnetization. List out types of Mag

(B)

(B)
(€)

(A)
(B)

(&)
(B)
(€

(A)
(B)
(©)

material with features in detail.

A motor car is fitted with two horns, which di ‘
If the car sounding the horns is moving at 30 W
the difference of frequencies of the notes hea i
Explain concept of heat and work.

Find out the core diameter necessars
and cladding refractive indices of 1.48 4

also.

Explain Rutherford’s exgu
Define: Magnetic perme

Explain classificati
Define Ultrasonic. °

Explain producti

List out types of the

1li

ation@f N.A.

e on Dispersion

SECTION-{

materi" and Explain Ferromagnetic

v by 288 vibrations per second.
aids a person, who is at rest, caleulate
‘elocity of sound in air is 11201t/s).

ode operation at 850 wm. Fiber have core
47 respectively. Find N.A. and acceptance angle

list our defects of the roentgen tube.
iLy? Derive the equation for it.

ometer and explain resistance thermometer in detail.
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(A)

(B)
(A)
(B)

(A)
(B)
(A)
(B)

(A)
(B)

SECTION 11
Answers the following ' 6
(1)Describe an atom.
(2)How are ions formed?
(3)How does semiconductor differ from conductor and insulator? @
(4)What are the condition for stiff clipper and stiff clamper circuit?
(5)What is covalent bond?
(6)What is crystal? :
Explain 2" and 3" approximation of diode with neat sketch & 6
- OR
Draw the V-I characteristics of diode. With the aid of figure te a note on how 6
reverse bias widens the length of depletion layer.
Calculate the load voltage, load current and diode po 0 ing figure. Diode has a 6
bulk resistance of 0.23Q.
For case 1: 1* approximation
For case 2: 2™ approximation
For case 3: 3" approximation
; &
Explain working of bri 6
What is clamper circ@'? 5
What is the use 6
Draw the outp o
Sketch hin CE configuration of n-p-n transistor. 6

he se@ond approximation to calculate the base current for following figure. Also 6
collector current and emitter current if Bgc=300.

END OF PAPER
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